
Homework 21 
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3)  The motion of a spring can be modelled by the differential 

equation, 
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When 𝑡 = 0, 𝑥 = 6 𝐚𝐧𝐝 
𝑑𝑥

𝑑𝑡
= 2. 

 

Determine the particular solution of this differential equation.   6

               

 

4) An object of mass 0 ∙ 2kg is attached to the end of a piece of 

string of length 15cm.   

The object hangs vertically and then is given a push with an initial 

speed of 1ms-1. 

 

Determine the speed of the object at the point when the string 

goes slack.             7 

 

 

 

 

 

 

 




